Represent tenths and hundredths as

o Huan uses a hundred square to represent 60 hundredths.
diagrams

Tick the diagrams that represent this.

0 Match the representation to the fraction.

2 tenths @/

70 hundredths

. o

15 hundredths

o Shade the grids so that each representation shows the same number.

- Tenths Hundredths %
i/

a Represent the fractions on the hundred squares. O O /
1 OO
@6

I ldents

NN

a) 3 tenths b) 30 hundredths

RSN

What do you notice? Discuss with a partner. O
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o Complete the sentences. @ o Alex shades a hundredths on a hundred square.

Rosie shades b hundredths on a hundred square.

a) You need to shade squares on a hundred square

to represent 23 Rosie has shaded 40 more squares than Alex.

100

a) Write possible values for a and b.
b) You need to shade squares on a hundred square

7
t t— = =
O represen 10 a b

b) What is the maximum number of squares Alex could have shaded? Q

o Complete the place value chart so that it is equivalent to the shaded
hundred square.

Ones l Tenths Hundredths

00 | 09
¢ O

o Dora shades a grid using three colours. @

She shades the grid in the following way.

Colour Red Blue Green

0 Teddy shades % on a hundred square.

Eva shades % on a hundred square.

3 >
10 10

Fraction shaded

—_
ol
o

Jack shades % on a hundred square.

, How many hundredths of the grid are not shaded?
What is the range of the number of squares they have shaded?

White





Represent tenths and hundredths on
number lines

o What fractions are the arrows pointing to?

a)
3 E
0 What numbers are the arrows pointing to? I I I T I I I T I I I
0 1
70
I | | | | I | + | I I b)
I I I I I I I I I I I
0 100 _2_3_ _‘_2j
(00 100
7 I | | + | I | I | + I
+ ! ! ! | ! ! ! ! ! ! |
| | | | | | | | | | 20 30
| | | | | | | | | | | 100 100
0 10
2z
lO c)
+ 2 29
I | | | | I | | I I v 100
| | | | | | | | | | | 100
0 1 + +
I | | | I | I | I
7 | S S S B B B R E— |
(00 2 3
+ 10 10
I | | | | I | | I I
I I I I I I I I I I I
0 1
10 d)
3 71
iy . b |00
a Draw arrows to show the position of the numbers on the number line.
SV S
I | | | | I | I | I I
I I I I I I I I I I I 7 8
0 fﬁ<’ T 1 10 10
4 tenths % 80 hundredths
Discuss with a partner your answers to parts b) and c). O
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77
a Draw arrows to show the position of the numbers on the number line. a Draw an arrow to show the position of 759 on the number line.

10

0o

: J
seven-tenths — 0.2 |
[

I
!
e

—
L I/| | ||\( | N N

| | | | I I I I I |
0 1

o Draw and label arrows for numbers A and B on the number line.

15
o Ron says he has labelled 75 on the number line.

N AN

A
. . 15 .
Whitney says that he is wrong and that he cannot label 75 on this Tenths Hundredths
number line.
Who do you agree with? \/\]Wkr\ﬂb\\) O O @ @
Explain your answer. @ @
\S .
B

| ond anvioe/\ﬂ\n_m%_acgaq.#

to |

Tenths Hundredths

00 | 09
@6

o What numbers are the arrows pointing to?
Draw some counters to show C. 21/

. DO ¢
: HOO® @@

Write your answers as tenths.

A
o

Y

e

amais
g

L3
10
¥





Interchange between fractional and

decimal number lines

0 Complete the number lines.

a)

| | | | | | | |
| | | | | | | |
1 2 &2 b s &8 2 %
10 10 0 10 0 10 o To (0

¢) Are the number lines identical? Discuss with a partner.

o Complete the number lines.

a)

| |
06 06l 062 063 06U 065 066 061 Ob8 069 0.7

o Complete the number line by filling in the empty boxes.

0.6 6% 08 014 | 1.1
I | | | | I
I I I I I I

L) 7 k] 9 | u

) 10 (o) 10 [o

o What numbers are the arrows pointing to?

Give each answer as a fraction and a decimal.

a)
| | | | | l | | | | | |
I I I I I I I
0 1
fraction = -E-g decimal = O LS
100
b)
| | | | | | | + | | |
[ [ [ [ [ [ [ [ [ [ [
2 6
10 10
fraction = -?g—o decimal = 0 'S?

¢) Point to another point on one of the number lines.

Ask your partner to tell you what the point is.
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o Ron and Whitney are reading numbers from a number line. o Show the approximate position of the numbers on the number line. Z/

A
l A 2 tenths B 0.5 C six-sixths
I | | I | I
I I I I I I : -
0 1 L - =
D 1700 E one-tenth F a
a)
l @@ A is pointing I I
NI to 0.3 0 1
Ron is incorrect. 0 Dexter says that three-sixths is equal to 0.3
Explain the mistake that he has made.
I I
I I
0 1

b) Mark both of these numbers on the number line to show that Dexter

A is pointing is incorrect.

6
0 700

(@)l©)

o Complete the number line, using the numbers in the boxes.

\
80 7 3
0.4 — —= = 1.2 0.2

Whitney is incorrect. 100 5 5
Explain the mistake that she has made. | | | | | | | |

I I I I I I I I

0 1.4
¢) What number is A pointing to? o Explain why 11 tenths is a greater number than 73 hundredths. O

Give your answer as a fraction and a decimal.

White





Convert between fractions and decimals —

tenths and hundredths

/

0 a) Shade % of the hundred b) Shade % of the hundred

square. square.

NS
SN

SRSIN

¢) Complete the equivalent fractions.

2 20 _ 2 20
10 ~ 100 0.2= 10 7100

o Complete the statements.

80
8 _ 17 _
9 45 = "100 d) o5 =0-L 1
7 37
70 _ _
b) <00 =10 e) 0.37 ==
S ] 2
) 0.5=-= ) 0.03 =0

o Part of a grid is shaded.

a) What fraction of each grid is shaded?

b) Use your answers to part a) to explain why 0.4 is greater than 0.04

TL“ =04 o TL('J"ot O 0L tueepe OL20-0U

° Write <, > or = to complete the statements.

6
a) 06 @ og d) 0.79
9 15
b) 7% @ 0.9 ) 00
70 29
g 07 @ 10 <00

O)0)0

—
olW

o Continue the linear sequences.

a) 111 12 12 Y IS

e ’ ——

10+ 100+ 100 | 160|" | loo 100

by 35 5 65 |2 qs | | I

—_— 7 —_—

100+ 10+ 100+ | 1o || Too|"| 1O

0 %10.29, o1 | 0:0% || -0-04
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o Complete the calculations.

You may use a hundred square to help you. ZL/

Give your answers as fractions.

3 20 _
9 36 ~700 = 10
i - 37 .3, 7
Use the diagram to explain why 106 =16 700
_91 _
b) 1 100
There are no tenths 5
in % because the ) -5~ 017=
@@ denominator is 100, not 10
N—
Explain to a partner why Amir is not correct. O 0 Complete the number sentence in three different ways. O
You can use a hundred square to help you.
49, +03+0__=2
100 10 -
a) Write a digit to make the statement correct. 14090 +===+03+0__=2
37
-—<0.9
100 - 49 —
100 LT 03+0__=2
b) Is there more than one possible answer? Record all the possibilities. .
Compare answers with a partner.

Can you find another way?

White



Convert between fractions and decimals —

fifths and quarters

0 Use the diagrams to help you complete the statements.

a)

=)

(9]
—_
o

]

ul|—=
—
o
o

U=
Il
©
I

b)

uo
100

n
o
f =

w[B] wE] =]

9]

I
o
o>

& @
Il
o
o

b) Use your answer to part a) to help you to complete the statement.

4 0 -| 019

b=
b=
N
b=
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° Which is greater, % or i? Explain how you know.

5

o Fill in the missing numbers.

Use the number line to help you.

0.2
| I I I I | |
| [ [ [ [ | |
0 1 1 2
5
a) %:1_ ¢ 0.8-=
9 _ _
b) <=13 d) 1.6=

o Which is greuter,15i or 1577

4

Explain how you know.

7
10°

O

a Here is a number line from 0 to 1

A B

I I I I
PE—
0 0.2

1
4

a) Write a fraction with a denominator of 10, which could go after B
on the number line.

b) Write a fraction with a denominator of 100, which could go before
A on the number line.

c¢) Write three fractions that could be in between A and B on the
number line.

Compare answers with a partner.

o Tick the expressions that are equivalent to four-fifths of x.

x+e | [ 04 | [] T |

08x | [7 -+ |0 0.45x | [ ]

Talk about your answers with a partner.

White
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Convert between fractions and 0
decimals — eighths and thousandths

o What fraction of the thousand square is shaded?

a) b)

,——””—””’

a Use the thousand square to complete the equivalent fractions. @

SO 720
1000 1000
y 1o SO0 b) L= 250 y A 125 o Use the thousand square to help you.
Y 2= 1000 4= 1000 < 8~ 1000
d) Use your answer to part c) to write % as a decimal.
Discuss any patterns you spot with a partner.
0-12s O
o Complete the statements.
1 Jol 1
a) 4|sah0h‘of2508|s a halg of4
b)025—E ) 075—
25== 75==
@ a) How many thousandths are equal to two-hundredths? 20
0.25 = % 0.75 = T 2
b) How many thousandths are equal to ﬁ? 200
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o Complete the statements. o Write the fractions in descending order.

3 4 5 71
1000 100 10 -
e 0] [ [
1000 100 10 5 -
Q) 480 _ =0 e) 05=D= —
1000 100 — ) 10 100 1000
& :
389 _ _ _ 8
d) 1000_0'___ f) 0.67 = 100 1000 | | I{ }I |
[ [ [ [ [
0 1 0.25 A 875
8

1000

o Annie is trying to work out % as a decimal. Q

a) What is the fraction at point A?

3 is equal to

8

375
1000’

which is 375

Explain and correct Annie’s error. b) Label % in approximately the correct place on the number line.

0 a) Circle all the fractions that cannot be simplified to quarters.

00|00

2 3 E) 6 z
8 8 8 8 8

oo~

1
a Given that % = 0.125, complete the table. 8

b) What do you notice about all of the circled fractions?

Fraction = = =

Decimal






Understand the meaning of percentage
using a hundred square

/

0 For each hundred square, write how many squares have been shaded.

Then write the percentage of the square that is shaded.

a)
squares shaded:| 40
percentage shaded: | 47 °/,
b)
squares shaded: | 5 |
percentage shaded: | 51 “/,

o What fraction of each hundred square has been shaded?

Also write your answer as a percentage.

a) b)
30 93 -
100 - | 20% 0 = 1T%
Discuss how you worked out the percentages. O

o a) Shade 28% of the hundred square.

;

i
i

b) Shade 72% of the hundred square.

¢) Dani shades 100% of the squares on a hundred g

How many squares has she shaded?| |00

o Shade A of the grid red and 27% of the grid blue.

100

rid.

M 70

U A

Z A

/hth | 4|2

What percentage of the grid is not shaded?| [ 7 “/

Explain or show your method.

()

€0 0

or = 1%, %+ 3% =38%

and [00°% -387. =627
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o a) Complete the table for the hundred square.

Colour

% shaded

blue

red

yellow

white

b) What check could you make to help you work out if you are right?

Complete the statements.

%

1_ - — 0 3 _
@ $="70 =100 - o 9 %="100 -
b) 1= = %
100
a) Complete the table.
. 40 8 20
Fraction shaded 700 0 1000

Percentage
shaded

b) If you shade 73% of a hundred square, what fraction is unshaded?

0 A rectangle is made up of 50 squares.

Shade 46% of this rectangle.

Compare answers with a partner.

Did you get the same answer?

What mistakes do you think some people make?

o What percentage of each diagram is shaded?

|

‘





Convert fluently between simple fractions,
decimals and percentages

? facton =| L.
raction = 100
decimal=| -2
percentage =| 21| /.
b)
. a .
fraction = T(_D- decimal=| O -9 percentage =
0)
. Q5 .
fraction = \0—0 decimal=| ()95 percentage =

/

0 What fraction, decimal and percentage of each diagram are shaded?

90/

qs 4

fraction =

4
G

incorrect.

decimal =

(0181

percentage =

e What fraction, decimal and percentage of the bar model is shaded?

80 %

o a) Sort the statements into those that are correct and those that are

q
0.09 is the same as 70

1
25% is equivalent to %L

7
700 is equal to 0.07

50% is the same as 0.05

3
70 is equivalent to 30%

0.4 is the same as "

Correct statements

Incorrect statements

100

\0

= (s equal to 0-0%
2 s equivalet to 30%
A5°% is epuvalaat te ‘h

0:09 (s 6 Some oy X
SO0% (3 B Soume an O-0S

\
0L ythe SOMe 00

([~

b) For the ones that are incorrect, change the statement to make it

correct.

E.c\x,. 009 (s e Same an T%‘g

S0k

Q-4

M the some an 0°S
P

(s e same on S
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100,

—

Is Rosie correct? _ O

4 is the same as 45%.

5

Explain your reasoning.

u _8 _80 _
S =70 " 100 = 80°%

o Complete the missing values.

Give your answers as decimals. One has been done for you.

)
’R‘SO% ’R‘

a
(9]

o Complete the statements with possible decimal answers.

E-a.

a) %< 0:3

b) 5% <| 007 <-L<

3
9 700 <|©

o Tick the odd one out.

<| 05 |<60%
T
21 1<30% <| O-99

0.4

How did you work this out?

AL bEng

two-fifths

abhers Oue  equuiniolent ko O-4U

Create your own problem like this for a partner.

‘





a The pie chart shows where some families went on holiday.

0 What fraction and percentage of each pie chart is shaded? .

Give your answer as a decimal.

|
fraction shaded =|

° The pie chart shows how students travel to school.

percentage shaded = | 95%,

3
a) What fraction of the families took a holiday in the UK? | "
2 10
fraction shaded =| | _
b) What percentage of the families went to Europe?| 0/,
percentage shaded =| 7¢y¢/, ¢) What proportion of families went to somewhere other than the UK
or Europe?

O-1\

a) What percentage of students travelled to school by car?| 90 ¢/,

3
fraction shaded = —5_ b) What proportion of children walk to school?
Give your answer as a fraction, decimal and percentage.
percentage shaded = | £0)%, 3
fraction = ’g decimal=| (O -6 percentage =

60 °%
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a The pie chart shows the amount of waste recycled by a school. a The pie chart shows the pets that some students own.

goldfish
not
recycled
a) What percentage of students own a goldfish?
a) How does the pie chart show that the school recycled more than they b) What percentage of students own a dog?
did not recycle? Explain how you worked out your answer.

b) What fraction of the waste is recycled by the school?

a Some students took part in a survey about their M
favourite language. w

a Part of this pie chart is shaded blue. The pie chart shows the results.

a) Estimate the percentage of students that chose each language.

Mandarin = Spanish =

French = German =

a) What percentage of the pie chart is not blue?

b) Add up your percentages.

O

b) What fraction of the pie chart is green? What do you notice?

White

Rase
Maths





0 What fraction of the shapes is shaded?

S
What fraction of the cubes are yellow? z
a)
2
2
° One of these triangles has % shaded?
3
)
/ AN
A B
a) Which shape has % shaded? A
b) Explain why one shape has % shaded and the other does not.
a What fraction of the shapes are shaded? o (s sp . B LS
not .

° Shade the stated fractions of the squares. F-%,

!
|
\ I
I
|
|

1 1
5 shaded T shaded

© White Rose Maths 2019





o Alex and Dexter are dividing rectangles into quarters. ZL/ o a) What fraction of the shapes are shaded? O

They can only join up dots.

I divided my shape into quarters
and I made 4 identical shapes.

o
&

a) How might Alex have divided her shape?

Show two different ways.

b) Did you have to make any assumptions?

Discuss with a partner.

O

O

o All the sides of this shape are the same length.

All 4 of my shapes are a) Divide the shape into fifths. ¢) Shade 10% of the shape.
different, but they are ZL/
©) \)@ still quarters.
R
b) How might Dexter have divided his shape?
Show two different ways. b) Shade % of the shape. d) Shade 0.375 of the shape.

Compare answers with a partner. O

Can you find more ways to divide the shapes?

White



Represent fractions on number lines

0 What fraction is each arrow pointing to?

a) q
0
I I I + I I I I I I I
I I I I I I I I I I
0 1
b) 3
ra'
I I I + I | I I I
I I I I I I I I I
0 1
0) _3—
S
I I I + I I
I I I I I I
0 1

o Aisha says that the arrow is pointing to %

I I | | I

I I I I I
0 1

a) Aisha is not correct. Why do you think she might have thought that?

Discuss with a partner.

b) What fraction is the arrow pointing to? L

Q

o Draw an arrow from each fraction to its correct position on the
number line.

0 1
1 3 z
7 7 7

o Here is a number line from 0 to 1
X
J
1
{

e

|
|
0 1

Label the point X at %

Explain how you decided where the point X would be.

Sol . ¢y

o Scott’s school is 1 km from his house.
The coffee shop is % km from Scott’s house.
The factory is % km from Scott’s house.

Scott’s house Coteee 5I’“’IJ Scott’s school

I 5 3 H i i L I
I ) T \ \ I I I

0 fackory 1

—f

Indicate on the number line where the coffee shop and factory are.
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o Are these arrows pointing to the same fraction?

NO

0%
|

o The number line shows both fifths and tenths.

2

s
I | | | | | | I | | | | I ‘I’
I | | | | | | | I | I I I I I | I |
0 1
|- 0 T
*
Y o :
a) Draw arrows to show 3 and 0
I
0 2
b) Use the number line to complete:
Explain your answer.
The aumbe Lnen are spuk inte  bBre Same ruuvor > Lk 6 L5
510 10 5
ot intuals and bha Qrrow (S QOU\U’/\S o the Same
DoInL but bhe end DO‘U\CS ot dAELent- ¢) Use < or > to make the statements correct.
3 3 4 2
10 5 5 10
d) Compare methods with a partner.
= ]
o a) How far along the number line is the point marked? @
I o a) How can you mark eighths on this number line?
0 3
8
N7
I ! ] I \ ) )
I { ' T \ i |
0
b) Mark the point % of the way along the number line.
Explain your method to a partner.
l b) Using the number line, show that % is less than %
0O
\VJ C‘

.





° a) Use a drawing to show that 2is equivalent to 5

3 9
f N
2
7
Use the diagrams to work out equivalent fractions.
- J
a)
b) Use a diagram to show that % = %
( N
7
4 8 12 I
\ J
b)

° Filip and Esther are writing fractions equivalent to 1

4

2 4 8 16

2 3 4 5

1 1
4 8 16 32 64 4 8 12 16 20

6

1
3

0 Divide the shape to show the equivalent fractions.

a) Explain the method that Filip has used to find equivalent fractions.
FL'(,;? hap dounled btne numesrokor ond  denominehor
each Lime .

12
15

_ 16
20

b) Explain the method that Esther has used find equivalent fractions.
Esthor  hon  owdkiphied ¥ numerohr oned  denominahor

4 =
5

o 53 consecurye qumoers (2, 3,4, S)

c¢) Write two more fractions for each method.
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o a) All these fractions are equivalent to %

Complete the fractions.

2

_=4=6=8=10=D
5 [ T R £ R

b) Discuss with a partner how many fractions are equivalent to

60

¢) Write five fractions that are equivalent to 70

Show your method.

2

5

a A shape is made up of squares and rectangles.

Show that % of the shape is shaded.

Q

o Eva, Jack and Dora have some counters.

[~

& &9

Eva Jack Dora

18 counters 36 counters 48 counters

Eva gives 12 counters to her teacher.

The rest of the children give the same fraction of their counters to
their teacher.

How many counters do Jack and Dora each give their teacher?

Jack gives counters. Dora gives counters.

o Find the missing numbers to complete the comparisons.

DBD

8 “25°32

What could each missing number be? What numbers would not work?

White





Understand fractions as division

a Use a calculator to help you match up the fraction with its division.

Then match up the division to the decimal answer.

% 23 + 100 0.8
% 4:5 0.23
% 3+4 0.3
ﬁ% 3:10 0.75

o Huan is writing % as a division on his calculator.

a) What mistake has Huan made?

/

He hop donded dre numioers b Mon%u\mj

b) What should he have typed on the calculator? 23=\0

o Write the fractions as divisions. ZL/

Use your calculator to work out the answer as a decimal.

o= Dl 5 |5 0%

b) %: + || ¥ |=| 0-835
) %: 4 |+ 20 |=| 045
d) %: 3} || O |=]| O-7U
e) %= +oF L= 135
n Lol 15 (s 6 |2 a5

° Werite the divisions as fractions.

6 s

a) 6 +9= q d 7+19= 19
. 2 . 10

b) 2+5= = e) 10:+4=|
| 2 P i

C) 7+12= 1. ) 27 =5 = 5

45
o Circle the fractions that are equivalent to gg

You should use division on a calculator to help you.

8 1 127 /360
2 44 16 480
Discuss with a partner the method you used. O
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o Show that the statements are true.

30 gng 17
a) 55 and 3

are not equal.

170 . 9
b) 250 is less than 75

0 Circle the smaller fraction in each pair.

3) a4 ]
0)4 b) 10

5

N
w
o)
~—
|_\
o
—_
(03]
o
~
—_
=
Ul
w

99

—_
(o]

o These 3 pizzas are divided equally between 5 people.

What fraction of one pizza does each person receive?

Each person receives

of a pizza.

o a) £2 is shared equally between 8 people.

What fraction of £1 does each person get?

Each person gets of £1

b) Nijah swims the same distance each day for 7 dauys.

She swims 4 km in total across the week.

What fraction of a km does Nijah swim each day?

Each day Nijah swims km.

@ Put the fractions in descending order.

31 45 18 130

50 75 24 2000

Show your method.

White





Convert fluently between fractions, decimals
and percentages

0 Draw a line between the matching fractions and decimals.

You may use a calculator to help you.

17 33 43 21
20 40 50 25

0.825 0.85 0.84 0.86

One-quarter is equal to 25%,

so one-eighth must be the same
as 12%% or 0.125

Use Alex’s fact to write the percentage and decimal equivalents.

2o3x12l%=12%.5\%=| 0375

5. 5%103=(05 |%=| 0-625

2.« 2*23%=-|§7-5|%=| 0-g35

o Look at the results in the table.

Percentage Calculation Decimal
40% 40 + 100 0.4
42% 42 + 100 0.42

42.7% 42.7 + 100 0.427

Use a calculator or your knowledge of division and multiplication to

complete this table.

Percentage Decimal
37% 037
37.4% 0 37
3% O 03
3.5% 0035
L6°4 0.46
U\-6 "% 0.416
LO 6" 0.406
-6/ 0.046

You can convert a fraction to a decimal by dividing the numerator

by the denominator.

For example, - = 11 + 20 = 0.55

20

Convert these fractions to decimals.

a) 2= 04?5

b) 5= 0135

9 35=| 06375
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b) Some of the decimals in part a) are known as recurring decimals.
o Convert these percentages to fractions, simplifying your answers

. . Which ones do you think are called this? Why?
if possible.

The first one has been done for you.

a) 30%=%=% d) 42% =
¢) Work with a partner to find more fractions that are O
recurring decimals.
S R ) o 71% <

100 = f) 92% =
a Write the next three terms in each sequence. O

Give your answers as fractions, decimals and percentages.

a) 0.1, % 30%, .,
o Use a calculator to convert these fractions to decimals.

a) Copy the full display from your calculator screen. fractions:
1.
7 .
decimals:
2.
7
percentages:
3
7
4 _ b) L, 025 30%, __,__,
7 5
2= fractions:
7 ractions:
6
7 decimals:
Iz
7
percentages:

White
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and percentages

0 Continue the number lines.

Explore fractions above 1, decimals

a)
I I I I I I I I I
[ [ [ [ [ [ [ [ [
0 1 2 3 N S [ a2 -2
4 4 W 4 4 L 4 Y
b)
I I I I I | I I | | I
[ [ [ [ [ [ [ [ [ [ [
0 02 04 06 0% | -2 4 |6 |- & 2
(9]
I | | | | | | | | | I
[ | | | | | | [ | [ [
70/ 80% 90% 100% o/, V907 1307/ lwol 1507 Vol 130
o a) Complete the number line.
1 2 3 4 1 2 3 "
0 5 5 5 5 L R - )
| I | I I | I I | I I
| [ I [ [ | [ [ I [ [
0 1 2 3 3 S 6 3 8 QA lo
5 5 5 5 5 5 5 5 S S

b) Use the number line to convert the following.

11

2—_ LI
1?‘ 5 =\ J

L]

5

o This number line shows the calculation 2 + % + % + %

3

w|N

w|n

w|N

w|n

a) How many thirds are there altogether?

— ——

b) Complete the calculation.

3

2

3

° Kim uses bar models to convert mixed numbers into improper fractions.

These models show that 2%

=1
4

Use Kim’s method to convert the mixed numbers to improper fractions.

1
0)32

2
2

3
b) ZZ

1
L
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o Convert the improper fractions to mixed numbers.

1 _
0)3_ =
|
|
0 1 2 3 4
13_
b)6-
I I I |
17 1T 1
0 1 2 3
17 _ 39 _
c)4- e)5
39 _ 123 _
d)10_ f)2_

o Look at the pattern blocks.

Two triangles fit exactly into one rhombus.

Three triangles fit exactly into one
trapezium.

@

a) If the hexagon represents 1 whole, what fractions are represented

by these shapes?

ALl &[] M

b) If the triangle represents 50%, what percentages are represented

by these shapes?

c) If the rhombus represents 0.5, what decimals are represented by

these shapes?

ACE M
O

o The nth term of a sequence is given by the rule 4Tn
Write the first six terms of the sequence.

Give your answers as mixed numbers.

White



